Project Number 2022044

Project Description2022 Residential Grind & OverlayOriginal Date12/12/2022 3:35:00 PM

Project Number: 2022044			Engineer's Estimate		INLAND ASPHALT COMPANY (Submitted)		SHAMROCK PAVING INC (Submitted)		INLAND INFRASTRUCTURE LLC (Submitted)		POE ASPHALT PAVING INC (Submitted)	
Item No	Bid Item Description	Est Qty	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
			Tax C	lassification								
		Sales tax s	hall be included	I in unit prices								
1	ADA FEATURES SURVEYING	1 LS	4,000.00	4,000.00	2,710.00	\$2,710.00	3,500.00	\$3,500.00	3,000.00	\$3,000.00	9,400.00	\$9,400.0
2	APPRENTICE UTILIZATION	1 LS	20,000.00	20,000.00	16,250.00	\$16,250.00	25,000.00	\$25,000.00	24,000.00	\$24,000.00	30,600.00	\$30,600.0
3	REIMBURSEMENT OF THIRD PARTY DAMAGE	1 EST	1.00	1.00	1.00	\$1.00	1.00	\$1.00	1.00	\$1.00	1.00	\$1.0
4	SPCC PLAN	1 LS	1,500.00	1,500.00	500.00	\$500.00	1,000.00	\$1,000.00	2,500.00	\$2,500.00	940.00	\$940.0
5	POTHOLING	18 EA	400.00	7,200.00	500.00	\$9,000.00	400.00	\$7,200.00	820.00	\$14,760.00	625.00	\$11,250.0
6	PUBLIC LIAISON REPRESENTATIVE	1 LS	20,000.00	20,000.00	8,550.00	\$8,550.00	15,000.00	\$15,000.00	20,000.00	\$20,000.00	56,840.00	\$56,840.00
7	MOBILIZATION	1 LS	110,009.00	110,009.00	154,670.6 0	\$154,670.60	160,000.0 0	\$160,000.00	195,000.0 0	\$195,000.00	276,250.0 0	\$276,250.0
8	PROJECT TEMPORARY TRAFFIC CONTROL	1 LS	62,000.00	62,000.00	140,000.0	\$140,000.00	129,977.5 0	\$129,977.50	130,000.0	\$130,000.00	130,000.0	\$130,000.0
9	SPECIAL SIGNS	120 SF	25.00	3,000.00	16.25	\$1,950.00	17.00	\$2,040.00	22.00	\$2,640.00	22.60	\$2,712.0
10	SEQUENTIAL ARROW SIGNS	200 HR	8.00	1,600.00	5.40	\$1,080.00	5.00	\$1,000.00	6.00	\$1,200.00	6.30	\$1,260.0
11	TYPE III BARRICADE	42 EA	120.00	5,040.00	55.00	\$2,310.00	50.00	\$2,100.00	100.00	\$4,200.00	107.00	\$4,494.0
12	TREE ROOT TREATMENT	5 EA	835.00	4,175.00	810.00	\$4,050.00	800.00	\$4,000.00	900.00	\$4,500.00	940.00	\$4,700.0
13	TREE PROTECTION ZONE	64 EA	300.00	19,200.00	245.00	\$15,680.00	240.00	\$15,360.00	275.00	\$17,600.00	282.00	\$18,048.0
14	REMOVE TREE, CLASS III	1 EA	2,000.00	2,000.00	3,450.00	\$3,450.00	3,400.00	\$3,400.00	3,900.00	\$3,900.00	4,000.00	\$4,000.0
15	TREE PRUNING	80 EA	250.00	20,000.00	245.00	\$19,600.00	240.00	\$19,200.00	275.00	\$22,000.00	282.00	\$22,560.0
16	REMOVAL OF STRUCTURE AND OBSTRUCTION	1 LS	5,000.00	5,000.00	16,500.00	\$16,500.00	8,500.00	\$8,500.00	7,500.00	\$7,500.00	21,600.00	\$21,600.0
17	REMOVE EXISTING CURB	1747 LF	5.00	8,735.00	8.65	\$15,111.55	11.00	\$19,217.00	12.00	\$20,964.00	16.30	\$28,476.1
18	REMOVE EXISTING CURB AND GUTTER	20 LF	20.00	400.00	7.60	\$152.00	30.00	\$600.00	12.00	\$240.00	56.40	\$1,128.0
19	REMOVE CEMENT CONCRETE SIDEWALK AND DRIVEWAY	811 SY	21.00	17,031.00	17.30	\$14,030.30	22.00	\$17,842.00	26.00	\$21,086.00	32.60	\$26,438.6
20	REMOVE MANHOLE, CATCH BASIN, OR DRYWELL	2 EA	1,150.00	2,300.00	1,500.00	\$3,000.00	1,500.00	\$3,000.00	1,250.00	\$2,500.00	2,115.00	\$4,230.0

Project Number: 2022044			Engineer's Estimate		INLAND ASPHALT COMPANY (Submitted)		SHAMROCK PAVING INC (Submitted)		INLAND INFRASTRUCTURE LLC (Submitted)		POE ASPHALT PAVING INC (Submitted)	
Item No	Bid Item Description	Est Qty	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
21	SALVAGE GRANITE CURB	25 LF	18.00	450.00	46.60	\$1,165.00	35.00	\$875.00	23.00	\$575.00	87.75	\$2,193.7
22	SAWCUTTING CURB	74 EA	39.00	2,886.00	41.00	\$3,034.00	35.00	\$2,590.00	30.00	\$2,220.00	104.00	\$7,696.0
23	SAWCUTTING RIGID PAVEMENT	1696 LFI	5.00	8,480.00	1.10	\$1,865.60	4.00	\$6,784.00	0.75	\$1,272.00	3.20	\$5,427.2
24	SAWCUTTING FLEXIBLE PAVEMENT	8650 LFI	1.60	13,840.00	0.45	\$3,892.50	0.75	\$6,487.50	0.40	\$3,460.00	2.00	\$17,300.0
25	REMOVE UNSUITABLE FOUNDATION MATERIAL	10 CY	215.00	2,150.00	67.10	\$671.00	28.00	\$280.00	60.00	\$600.00	195.00	\$1,950.0
26	REPLACE UNSUITABLE FOUNDATION MATERIAL	10 CY	78.00	780.00	60.00	\$600.00	55.00	\$550.00	52.00	\$520.00	163.00	\$1,630.0
27	CSTC FOR SIDEWALK AND DRIVEWAYS	60 CY	165.00	9,900.00	265.00	\$15,900.00	285.00	\$17,100.00	350.00	\$21,000.00	408.00	\$24,480.0
28	CRACK SEALING, 1 INCH TO 3 INCH	18294 LF	2.00	36,588.00	2.15	\$39,332.10	2.75	\$50,308.50	2.50	\$45,735.00	2.50	\$45,735.0
29	CRACK SEALING, 3 INCH TO 6 INCH	2726 LF	7.00	19,082.00	3.25	\$8,859.50	14.25	\$38,845.50	8.00	\$21,808.00	8.15	\$22,216.9
30	HMA CL. 1/2 IN. MEDIUM TRAFFIC, 2 INCH THICK	36588 SY	14.00	512,232.00	12.00	\$439,056.00	10.75	\$393,321.00	11.50	\$420,762.00	13.10	\$479,302.8
31	COMMERCIAL HMA FOR PRELEVELING CL. 3/8 IN.	140 TON	125.00	17,500.00	155.00	\$21,700.00	155.00	\$21,700.00	190.00	\$26,600.00	240.00	\$33,600.0
32	COMMERCIAL HMA FOR FEATHERING CL. 3/8 IN.	10 TON	600.00	6,000.00	670.00	\$6,700.00	300.00	\$3,000.00	365.00	\$3,650.00	640.00	\$6,400.0
33	HMA FOR PAVEMENT REPAIR CL. 1/2 IN. MEDIUM TRAFFIC, 4 INCH THICK	1145 SY	37.00	42,365.00	32.60	\$37,327.00	52.00	\$59,540.00	60.00	\$68,700.00	63.75	\$72,993.7
34	PAVEMENT REPAIR EXCAVATION INCL. HAUL	1145 SY	35.00	40,075.00	47.55	\$54,444.75	36.00	\$41,220.00	42.00	\$48,090.00	28.85	\$33,033.2
35	PLANING BITUMINOUS PAVEMENT	36588 SY	6.00	219,528.00	3.60	\$131,716.80	4.00	\$146,352.00	5.00	\$182,940.00	4.00	\$146,352.0
36	JOB MIX COMPLIANCE PRICE ADJUSTMENT	1 EST	(1.00)	(1.00)	(1.00)	(\$1.00)	(1.00)	(\$1.00)	(1.00)	(\$1.00)	(1.00)	(\$1.00
37	COMPACTION PRICE ADJUSTMENT	25612 EST	1.00	25,612.00	1.00	\$25,612.00	1.00	\$25,612.00	1.00	\$25,612.00	1.00	\$25,612.0
38	CATCH BASIN TYPE 1	4 EA	3,700.00	14,800.00	5,650.00	\$22,600.00	4,750.00	\$19,000.00	3,575.00	\$14,300.00	4,000.00	\$16,000.0
39	RETROFIT SURFACE INLET CB WITH FRAME & VANED GRATE	10 EA	1,400.00	14,000.00	930.00	\$9,300.00	1,250.00	\$12,500.00	1,050.00	\$10,500.00	1,900.00	\$19,000.0

Hem	Project Number: 2022044			Engineer's Estimate		INLAND ASPHALT COMPANY (Submitted)		SHAMROCK PAVING INC (Submitted)		INLAND INFRASTRUCTURE LLC (Submitted)		POE ASPHALT PAVING INC (Submitted)	
CB WITH FRAME & BI-DIRECTIONAL VANED GRATE 41 RETROFIT CURB & SURFACE INLET FRAME & GRATE WITH HOOD, FRAME & BI-DIRECTIONAL VANED GRATE 42 MH OR DW FRAME AND COVER (STANDARD) COVER (STANDARD) COVER (STANDARD) COVER (STANDARD) ADJUST EXISTING MH, CB. DW, OR INLET IN ASPHALT CITCH CHANNE SISTING MH, CB. DW, OR INLET IN ASPHALT TRENCH SAFETY SYSTEM 1 LS 12,000.00 12,000.00 12,000.00 12,000.00 12,000.00 12,000.00 12,000.00 12,000.00 12,000.00 10,000.00 13,000.00 12,000.00 10,0		Bid Item Description	Est Qty		Amount		Amount		Amount		Amount		Amount
INLET FRAME & GRATE WITH HOOD, FRAME & BI-DIRECTIONAL VANED GRATE	40	CB WITH FRAME & BI- DIRECTIONAL VANED	5 EA	1,400.00	7,000.00	940.00	\$4,700.00	1,250.00	\$6,250.00	1,050.00	\$5,250.00	1,900.00	\$9,500.00
COVER (STANDARD)	41	INLET FRAME & GRATE WITH HOOD, FRAME & BI- DIRECTIONAL VANED	8 EA	1,600.00	12,800.00	1,260.00	\$10,080.00	1,450.00	\$11,600.00	1,250.00	\$10,000.00	1,900.00	\$15,200.00
COVER (LOCKABLE) 44 VALVE BOX AND COVER 55 ADJUST EXISTING MH, CB, DW, OR INLET IN ASPHALT 46 CLEANING EXISTING DRAINAGE STRUCTURE 47 TRENCH SAFETY SYSTEM 40 LS CATCH BASIN SEWER PIPE 8 IN DIA. PIPE TO EXISTING CB, DW, OR MH 50 TEMPORARY ADJACENT UTILITY SUPPORT 51 HYDRANT ASSEMBLY 5 EA 8,000.00 51 SEA 8,000.00 52 SEC LEAD 51 LS 2,000.00 52 SOD INSTALLATION 55 REMOVE AND REPLACE EXISTING STRUCTURE 51 REMOVE AND REPLACE EXISTING STRUCTURE 52 REMOVE AND REPLACE EXISTING CB SEA SEA.00 52 PROVING AND REPLACE EXISTING CB SEA SEA.00 52 PROVING AND REPLACE EXISTING CB SEA SEA.00 53 REMOVE AND REPLACE EXISTING CB SEA SEA.00 53 REMOVE AND REPLACE EXISTING CB SEA SEA.00 51 LS SEA,000.00 52 PROVING AND REPLACE EXISTING CB SEA SEA.00 52 PROVING AND REPLACE EXISTING CB SEA SEA.00 53 REMOVE AND REPLACE EXISTING CB SEA SEA.00 54 STREET CLEANING SEA SEA SEA.00 55 REMOVE AND REPLACE EXISTING CB SEA SEA.00 56 REMOVE AND REPLACE EXISTING CB SEA SEA.00 57 SOD INSTALLATION 58 SEA SEA.00 58 SEA.00 5	42		18 EA	1,650.00	29,700.00	990.00	\$17,820.00	1,150.00	\$20,700.00	1,300.00	\$23,400.00	2,250.00	\$40,500.00
45 ADJUST EXISTING MH, CB, DW, OR INLET IN ASPHALT 46 CLEANING EXISTING DRAINAGE STRUCTURE 47 TRENCH SAFETY SYSTEM 48 CATCH BASIN SEWER PIPE 8 IN DIA. PIPE TO EXISTING CB, DW, OR MH 50 TEMPORARY ADJACENT UTILITY SUPPORT 51 HYDRANT ASSEMBLY 5 EA 8,000.00 5 ESC LEAD	43		13 EA	1,650.00	21,450.00	975.00	\$12,675.00	1,200.00	\$15,600.00	1,375.00	\$17,875.00	2,250.00	\$29,250.00
DW, OR INLET IN ASPHALT 46	44	VALVE BOX AND COVER	33 EA	900.00	29,700.00	350.50	\$11,566.50	650.00	\$21,450.00	600.00	\$19,800.00	1,185.00	\$39,105.00
DRAINAGE STRUCTURE 47 TRENCH SAFETY SYSTEM 1 LS 12,000.00 12,000.00 1,240.00 \$1,240.00 \$2,875.00 \$2,875.00 \$5,000.00 \$5,000.00 \$2,760.00 \$48 CATCH BASIN SEWER PIPE 8 IN DIA. PIPE TO EXISTING CB, DW, OR MH 50 TEMPORARY ADJACENT UTILITY SUPPORT 51 HYDRANT ASSEMBLY 5 ESC LEAD 1 LS 2,000.00 40,000.00 10,500.00 10,500.00 \$52,500.00 11,800.00 \$1,200.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$4,1000.00 \$4,100.00 \$1,000.00	45		6 EA	850.00	5,100.00	485.00	\$2,910.00	750.00	\$4,500.00	650.00	\$3,900.00	2,000.00	\$12,000.00
48 CATCH BASIN SEWER PIPE 8 IN. DIA. 156 LF 60.00 9,360.00 172.15 \$26,855.40 115.00 \$17,940.00 100.00 \$15,600.00 210.00 49 CONNECT 8 IN. DIA. PIPE TO EXISTING CB, DW, OR MH 3 EA 2,850.00 8,550.00 3,360.00 \$10,080.00 1,900.00 \$57,700.00 \$75.00 \$2,625.00 1,290.00 50 TEMPORARY ADJACENT UTILITY SUPPORT 1 LS 3,000.00 40,000.00 10,500.00 \$1,650.00 2,500.00 \$2,500.00 \$7,500.00 \$4,100.00 51 HYDRANT ASSEMBLY 5 EA 8,000.00 40,000.00 10,500.00 \$52,500.00 11,800.00 \$59,000.00 \$41,000.00 \$41,000.00 \$41,000.00 \$41,000.00 \$41,000.00 \$52,500.00 \$1,200.00 \$52,000.00 \$41,000.00 \$41,000.00 \$41,000.00 \$41,000.00 \$41,000.00 \$41,000.00 \$41,000.00 \$41,000.00 \$41,000.00 \$41,000.00 \$41,000.00 \$41,000.00 \$41,000.00 \$41,000.00 \$41,000.00 \$41,000.00 \$41,000.00 \$41,000.00 \$41,000.00	46		13 EA	425.00	5,525.00	585.00	\$7,605.00	450.00	\$5,850.00	600.00	\$7,800.00	935.00	\$12,155.00
IN. DIA. 49 CONNECT 8 IN. DIA. PIPE TO EXISTING CB, DW, OR MH 50 TEMPORARY ADJACENT UTILITY SUPPORT 51 HYDRANT ASSEMBLY 5 EA 8,000.00 40,000.00 10,500.00 \$52,500.00 11,800.00 \$59,000.00 \$25,000.00 \$41,000.00 14,365.00 \$25.00 11,200.00 \$1,000.	47	TRENCH SAFETY SYSTEM	1 LS	12,000.00	12,000.00	1,240.00	\$1,240.00	2,875.00	\$2,875.00	5,000.00	\$5,000.00	2,760.00	\$2,760.00
EXISTING CB, DW, OR MH 50 TEMPORARY ADJACENT UTILITY SUPPORT 51 HYDRANT ASSEMBLY 5 EA 8,000.00 40,000.00 1,650.00 52,500.00 52,500.00 53,000.00 52,500.00 52,500.00 53,000.00 54,100.00 55 ESC LEAD 1 LS 2,000.00 2,000.00 1,710.00 54 STREET CLEANING 20 HR 222.00 4,440.00 216.50 56 HYDROSEEDING 103 SY 15.00 103 SY 15.00 103 SY 15.00 104 EA 105 EA 105 EA 105 EA 106 EXISTING SPRINKLER HEADS AND LINES 1 LS 3,000.00 3,000.00 3,000.00 3,000.00 1,650.00 1,650.00 \$1,650.00 \$1,650.00 \$1,650.00 \$1,650.00 \$1,650.00 \$1,650.00 \$1,800.00 \$1,800.00 \$1,800.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,000.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,0	48		156 LF	60.00	9,360.00	172.15	\$26,855.40	115.00	\$17,940.00	100.00	\$15,600.00	210.00	\$32,760.00
UTILITY SUPPORT 51 HYDRANT ASSEMBLY 5 EA 8,000.00 40,000.00 10,500.00 \$52,500.00 11,800.00 \$59,000.00 \$41,000.00 14,365.00 52 ESC LEAD 1 LS 2,000.00 2,000.00 1,710.00 \$1,710.00 1,200.00 \$1,200.00 25,000.00 \$25,000.00 34,100.00 53 INLET PROTECTION 40 EA 150.00 6,000.00 54.10 \$2,164.00 150.00 \$6,000.00 \$5.00 \$3,400.00 170.00 54 STREET CLEANING 5 ROCK MULCH 7 CY 150.00 1,050.00 124.50 \$4,330.00 275.00 \$5,500.00 300.00 \$6,000.00 \$223.00 56 HYDROSEEDING 103 SY 15.00 1,545.00 6.50 \$669.50 8.00 \$824.00 7.00 \$721.00 8.00 57 SOD INSTALLATION 35 REMOVE AND REPLACE EXISTING SPRINKLER HEADS AND LINES	49		3 EA	2,850.00	8,550.00	3,360.00	\$10,080.00	1,900.00	\$5,700.00	875.00	\$2,625.00	1,290.00	\$3,870.00
52 ESC LEAD 1 LS 2,000.00 2,000.00 1,710.00 \$1,710.00 \$1,200.00 25,000.00 \$25,000.00 34,100.00 53 INLET PROTECTION 40 EA 150.00 6,000.00 54.10 \$2,164.00 150.00 \$6,000.00 \$5,000.00 \$3,400.00 170.00 54 STREET CLEANING 20 HR 222.00 4,440.00 216.50 \$4,330.00 275.00 \$5,500.00 300.00 \$6,000.00 223.00 55 ROCK MULCH 7 CY 150.00 1,050.00 124.50 \$871.50 150.00 \$1,050.00 140.00 \$980.00 145.00 56 HYDROSEEDING 103 SY 15.00 1,545.00 6.50 \$669.50 8.00 \$824.00 7.00 \$721.00 8.00 57 SOD INSTALLATION 35 SY 14.00 490.00 20.00 \$700.00 25.00 \$875.00 22.00 \$770.00 23.00 58 REMOVE AND REPLACE EXISTING SPRINKLER HEADS AND LINES 1 LS 26,000.00 26,000.0	50		1 LS	3,000.00	3,000.00	1,650.00	\$1,650.00	2,500.00	\$2,500.00	7,500.00	\$7,500.00	4,510.00	\$4,510.00
53 INLET PROTECTION 40 EA 150.00 6,000.00 54.10 \$2,164.00 150.00 \$6,000.00 85.00 \$3,400.00 170.00 54 STREET CLEANING 20 HR 222.00 4,440.00 216.50 \$4,330.00 275.00 \$5,500.00 300.00 \$6,000.00 223.00 55 ROCK MULCH 7 CY 150.00 1,050.00 124.50 \$871.50 150.00 \$1,050.00 140.00 \$980.00 145.00 56 HYDROSEEDING 103 SY 15.00 1,545.00 6.50 \$669.50 8.00 \$824.00 7.00 \$721.00 8.00 57 SOD INSTALLATION 35 SY 14.00 490.00 20.00 \$700.00 25.00 \$875.00 22.00 \$770.00 23.00 58 REMOVE AND REPLACE EXISTING SPRINKLER HEADS AND LINES 1 LS 26,000.00 26,000.00 18,400.00 \$18,000.00 \$18,000.00 20,000.00 \$20,000.00 21,310.00	51	HYDRANT ASSEMBLY	5 EA	8,000.00	40,000.00	10,500.00	\$52,500.00	11,800.00	\$59,000.00	8,200.00	\$41,000.00	14,365.00	\$71,825.00
54 STREET CLEANING 20 HR 222.00 4,440.00 216.50 \$4,330.00 275.00 \$5,500.00 300.00 \$6,000.00 223.00 55 ROCK MULCH 7 CY 150.00 1,050.00 124.50 \$871.50 150.00 \$1,050.00 140.00 \$980.00 145.00 56 HYDROSEEDING 103 SY 15.00 1,545.00 6.50 \$669.50 8.00 \$824.00 7.00 \$721.00 8.00 57 SOD INSTALLATION 35 SY 14.00 490.00 20.00 \$700.00 25.00 \$875.00 22.00 \$770.00 23.00 58 REMOVE AND REPLACE EXISTING SPRINKLER HEADS AND LINES 1 LS 26,000.00 26,000.00 18,400.00 \$18,000.00 \$18,000.00 20,000.00 \$20,000.00 21,310.00	52	ESC LEAD	1 LS	2,000.00	2,000.00	1,710.00	\$1,710.00	1,200.00	\$1,200.00	25,000.00	\$25,000.00	34,100.00	\$34,100.00
55 ROCK MULCH 7 CY 150.00 1,050.00 124.50 \$871.50 150.00 \$1,050.00 140.00 \$980.00 145.00 56 HYDROSEEDING 103 SY 15.00 1,545.00 6.50 \$669.50 8.00 \$824.00 7.00 \$721.00 8.00 57 SOD INSTALLATION 35 SY 14.00 490.00 20.00 \$700.00 25.00 \$875.00 22.00 \$770.00 23.00 58 REMOVE AND REPLACE EXISTING SPRINKLER HEADS AND LINES 1 LS 26,000.00 26,000.00 18,400.00 \$18,000.00 \$18,000.00 20,000.00 \$20,000.00 21,310.00	53	INLET PROTECTION	40 EA	150.00	6,000.00	54.10	\$2,164.00	150.00	\$6,000.00	85.00	\$3,400.00	170.00	\$6,800.00
56 HYDROSEEDING 103 SY 15.00 1,545.00 6.50 \$669.50 8.00 \$824.00 7.00 \$721.00 8.00 57 SOD INSTALLATION 35 SY 14.00 490.00 20.00 \$700.00 25.00 \$875.00 22.00 \$770.00 23.00 58 REMOVE AND REPLACE EXISTING SPRINKLER HEADS AND LINES 1 LS 26,000.00 26,000.00 18,400.00 \$18,400.00 \$18,000.00 \$20,000.00 \$20,000.00 21,310.00	54	STREET CLEANING	20 HR	222.00	4,440.00	216.50	\$4,330.00	275.00	\$5,500.00	300.00	\$6,000.00	223.00	\$4,460.00
57 SOD INSTALLATION 35 SY 14.00 490.00 20.00 \$700.00 25.00 \$875.00 22.00 \$770.00 23.00 58 REMOVE AND REPLACE EXISTING SPRINKLER HEADS AND LINES 1 LS 26,000.00 26,000.00 18,400.00 \$18,400.00 \$18,000.00 \$18,000.00 \$20,000.00 \$20,000.00 21,310.00	55	ROCK MULCH	7 CY	150.00	1,050.00	124.50	\$871.50	150.00	\$1,050.00	140.00	\$980.00	145.00	\$1,015.00
58 REMOVE AND REPLACE EXISTING SPRINKLER HEADS AND LINES 1 LS 26,000.00 26,000.00 18,400.00 \$18,400.00 \$18,000.00 \$18,000.00 \$20,000.00 \$20,000.00 \$21,310.00	56	HYDROSEEDING	103 SY	15.00	1,545.00	6.50	\$669.50	8.00	\$824.00	7.00	\$721.00	8.00	\$824.00
EXISTING SPRINKLER HEADS AND LINES	57	SOD INSTALLATION	35 SY	14.00	490.00	20.00	\$700.00	25.00	\$875.00	22.00	\$770.00	23.00	\$805.00
59 CEMENT CONCRETE CURB 685 LF 66.00 45,210.00 41.10 \$28,153.50 41.00 \$28,085.00 51.00 \$34,935.00 53.00	58	EXISTING SPRINKLER	1 LS	26,000.00	26,000.00	18,400.00	\$18,400.00	18,000.00	\$18,000.00	20,000.00	\$20,000.00	21,310.00	\$21,310.00
	59	CEMENT CONCRETE CURB	685 LF	66.00	45,210.00	41.10	\$28,153.50	41.00	\$28,085.00	51.00	\$34,935.00	53.00	\$36,305.00

Projec	Project Number: 2022044		Engineer's Estimate		INLAND ASPHALT COMPANY (Submitted)		SHAMROCK PAVING INC (Submitted)		INLAND INFRASTRUCTURE LLC (Submitted)		POE ASPHALT PAVING INC (Submitted)	
Item No	Bid Item Description	Est Qty	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
60	CEMENT CONCRETE CURB AND GUTTER	1305 LF	65.00	84,825.00	44.30	\$57,811.50	43.00	\$56,115.00	54.00	\$70,470.00	56.40	\$73,602.00
61	CEMENT CONCRETE DRIVEWAY - HIGH EARLY	145 SY	210.00	30,450.00	92.00	\$13,340.00	91.00	\$13,195.00	115.00	\$16,675.00	170.00	\$24,650.00
62	MODIFY FENCING	1 LS	8,000.00	8,000.00	9,525.00	\$9,525.00	5,000.00	\$5,000.00	2,500.00	\$2,500.00	11,030.00	\$11,030.00
63	CLASSIFICATION AND PROTECTION OF SURVEY MONUMENTS	1 LS	11,000.00	11,000.00	7,035.00	\$7,035.00	900.00	\$900.00	7,000.00	\$7,000.00	8,150.00	\$8,150.00
64	REFERENCE AND REESTABLISH SURVEY MONUMENT	9 EA	1,120.00	10,080.00	704.00	\$6,336.00	500.00	\$4,500.00	700.00	\$6,300.00	815.00	\$7,335.00
65	CEMENT CONCRETE SIDEWALK	821 SY	176.00	144,496.00	82.25	\$67,527.25	82.00	\$67,322.00	105.00	\$86,205.00	190.00	\$155,990.00
66	RAMP DETECTABLE WARNING	349 SF	35.00	12,215.00	37.90	\$13,227.10	38.00	\$13,262.00	42.00	\$14,658.00	50.15	\$17,502.35
67	SIGNING, PERMANENT - CITY MANUFACTURED SIGNS	1 LS	12,000.00	12,000.00	15,700.00	\$15,700.00	24,000.00	\$24,000.00	17,000.00	\$17,000.00	18,175.00	\$18,175.00
68	REMOVAL OF EXISTING PAVEMENT MARKINGS	7 SF	10.00	70.00	110.00	\$770.00	125.00	\$875.00	120.00	\$840.00	125.35	\$877.45
69	PAVEMENT MARKING - DURABLE HEAT APPLIED	1959 SF	15.00	29,385.00	9.75	\$19,100.25	10.00	\$19,590.00	11.00	\$21,549.00	11.30	\$22,136.70
70	PAVEMENT MARKING - PAINT	492 SF	1.00	492.00	5.40	\$2,656.80	6.00	\$2,952.00	6.00	\$2,952.00	6.30	\$3,099.60
71	WORD AND SYMBOL MARKINGS – DURABLE HEAT APPLIED	12 EA	400.00	4,800.00	210.00	\$2,520.00	210.00	\$2,520.00	225.00	\$2,700.00	245.00	\$2,940.00
72	TEMPORARY PAVEMENT MARKING	1 LS	1,000.00	1,000.00	5,400.00	\$5,400.00	3,000.00	\$3,000.00	3,000.00	\$3,000.00	3,135.00	\$3,135.00
Bid To	otal		\$1,	919,191.00	\$1,690,000.00		\$1,732,732.00		\$1,899,339.00		\$2,343,526.45	

SCHEDULE SUMMARY

	Sched 1	Sched 2	Sched 3	Sched 4	Sched 5	Sched 6	Total
ENGINEER'S ESTIMATE	1,919,191.00	0.00	0.00	0.00	0.00	0.00	1,919,191.00
INLAND ASPHALT COMPANY (Submitted)	1,690,000.00	0.00	0.00	0.00	0.00	0.00	1,690,000.00
SHAMROCK PAVING INC (Submitted)	1,732,732.00	0.00	0.00	0.00	0.00	0.00	1,732,732.00
INLAND INFRASTRUCTURE LLC (Submitted)	1,899,339.00	0.00	0.00	0.00	0.00	0.00	1,899,339.00
POE ASPHALT PAVING INC (Submitted)	2,343,526.45	0.00	0.00	0.00	0.00	0.00	2,343,526.45

Low Bid Contractor: INLAND ASPHALT COMPANY

	Contractor's Bid	Engineer's Estimate	% Variance
Schedule 01	1,690,000.00	1,919,191.00	11.94 % Under Estimate
Schedule 03	0.00	0.00	% Under Estimate
Bid Totals	1,690,000.00	1,919,191.00	11.94 % Under Estimate